10ggoouooon

1.2000000000000000000O
1.00o0obo0oooooobn
2.0000000000C00DO00O0C0OO0O0DOOO0
ooooooboooo

Theorem 1 a <b<cOOOI =[a,b],J=[b,c 0000
(1) f(z),g(x)0 I00D000OD0DOOO0 f(z)+g(z), af(z) + Bg(x) (o, €R), f(x)g(z) 000000

gooooood
/1 (af(z) + Bg(x))dz = a / f(2)do + 4 / o(x)dz
gooogo

(2) h(z) D [, JOOO000000000 h(z)D TUJ =[a,d 000000

/h da:—/h dx—|—/h
gooood

(3)0000z€l0000m< fl@)<MDOOO
m(b—a)g/f(m)dng(b—a).
I
00 a<b00000 [ f(z)dz («0 b00000000000000)0

/baf(x)dac = —/abf(x)dx

oooooo e, b,c000000O0O0O00OOO

/:f(x)dx:/abf(x)dx+/bcf(x)dx

Theorem 1 (1) 0000000000 O0OO0OOOOOOOOOOOOOOOp,q0p<qOOOODO
O, f(z),9(z)0 [p,q DOO0OO0DOOOO

goooboooobooon

sup (f(z) +g(x)) < sup f(z)+ sup g(x) (1)
z€[p,q] z€[p,q] z€[p,q]
inf f(z)+ inf g(x) < inf (f(z)+g(z)) (2)
z€[p,q] z€[p,q] z€[p,q]
sup (f(z)g(z)) — inf (f(z)g(z)) < (Sup flz)— inf f(x )) sup |g(z)]
z€[p,q] ©€[p,q] z€[p,q] z€[p,q] z€[p,q]
+< sup g(r) — inf g(= )> sup |f(z)]. (3)
z€[p,q] z€[p.d] z€[p,q]

0000 000000 (1), (2),3)0 Theorem 1 (1) 000000

goooooooooooooooooooOoOooooOoOg?0oooooOoOOOOOOoOogOOo
goooood



Theorem 2 f(z) 000 [0,b)] 0000000000000

000(1) f(zx)D00000000000000
()00 [a,b] 000

(i) f(z)O0 [¢,b) 00000000 ODO
00000000000

() 0000000000000000000O0

z0o0aoo x:%DDDDDDDp,qDDDDDDDDD
z0000000o0000

1
fl@) =47 (4)

0
gobooooobooboobooboooooobOOoobOOoOobOoOobooboobooboboOoooan
DDDDDDDDI:II:II]DDDDDDD,fjf(x)dx:ODDDDD

Theorem 20 0000000000000 C0O0ODOOOOODOOOODOOOOOODOOODDOOODO
gbooobooobooo

Definition 3 ACROOOO

(1) f(x)0 ADDODODOO0D00O000a€A, e>00000006>000000 |z—a/<s000
00000 2z€A0D00 |f(z)— f(a)| <e.

(2) f(x)0 AD0DD0ODO0O00000000e>00000006>000000 |ay—10| <6000
00000 z1,220€ A0000 [f(z1) — fze)] <e.

A0D000OO0OO0ODD ADOOOODODOOOOOOOOO0
afululn

0 (1) A=(0,1)000000000 f(z)=i0000000000
(2) A=(a,1) «>00000 f(z)=10 AD00DDO0DOO0O
(3)

(4)
(5)
0000000000000000000000
000

z)=sinz (A=R)000000000
z)=e* (A=R)0000000000
(z) =logz (A=a,00))000000O0000OOOOG > 0.

Theorem 4 f(z)0000 I =[e,b)00000000000000

gooobomobooboboboobooboboboooboboboobobooboboboobooobon
OO00000000D0O00OTheorem 400000 Theorem 2000000000000

oboboobOooooooooboobobobOoooobooooooooobooboobOoobooooonoo
00000000000000 lim,—s S(f,A,) 0000000000000 0OOOOOOOOOOOO
gbooobooboobooboboobooboobooboooboobo

Theorem 5 f(z) 0 I = [0,b) 00 0000000000000F () = f(z) (x € 1)00000
(fx) 0000000000)000000000000e<a<B<b0000

15
/ f(x)dz = F(8) — F(a).



